





The primary contaminant included in cigar smoke is

(A) Carbon monoxide and dioxide
(B) Carbon monoxide and Nicotine
' (C)VL(arbon monoxide and Benzene
(D) Dioxicine and benzene

(F) Answer not known

T,

AsQr_ yerasuled o arar pgflane s

(A) smiuen Curarses® LHIIL ML EDFH
(B) armiuer Guneméms® wpmib H&ECsmrmg e
(C)  smiuen Gunammées® wHmib Auenfer |
D) oLasdmsear Hmd Quandlar

(E) e Qsflweldame

When a ball is projected upwards there is an increase in its
1. Potential Energy

2. Momentum

3. Kinetic Energy

AVT only  (B) 1and2only
(C) 2only (D) 2 and 3 only

(E) Answer not known.

ubms Cwle aflywlurg o5 GCGuwCa Gsadlng. &iUGLIIT@gI ubSed
Spsaar_eaupmer argl sfsNESng? -

1. Hleneownpoed (1) srrgﬁu_lmrrw < HDE R

2. eopgd

3. Quésypméd

A) 1wiEo : (B) 1 whmib 2 wi G

C) 2w @pw - (D) 2 vogd 3 L Hb

(E) o Qasflweiicena '
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3.  Alterations in the environments represent selective pressures upon the
population to which it must adjust. This statement infers that
(A) Organisms will increase in population in a changed environment

(BWganisms which fail to adjust to the changed environment must

vanish

(C) Organisms will alter their morphology to adapt to changes in the

environment
(D) Organisms will change the environment under selective pressure

(E) Answer not known

&@gé@@aﬂ@ FHUELL LAHPEISET, wWwéseT [ gar Gg,rrmésanu.:# sfl Qe (Ssus&w@u

Camplshssiul L. pssusmeans Ghadapar amumg,r 8 iHEns

2 aisgApg) | o | -,

@) wriewb @ o Wfamksd Asnems ofsfash

B) wvmwu GwasE ghu wrpig 2 W@RamseT b él.ll‘f&@;blﬂ@lb

(C) shmpémpde ghu@b wrophsEsdEs gbu Wlamsds shsd 2 (meu
IGnLOLIeNL mnj;QSIé; Ga;rreir@fo

(D) CsipAs@asiiu L oiwsssdan &1 o WAeTREET G WIHHD

(E) aflent AgMweleoena
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The enzyme involved in unwinding of DNA is

(A) Telomerase ' (B%elicase

(C) Polymerase : (D) Ligase

(E), Answer not known

DNA- e @rewn() Qavpsanms Lﬂrﬁuuﬁé) FRHURD QBT wmng;?
(A) QLCGemoCreiv | (B) Q@QS]G’&@"U
(O LrdAwCre (D) HCsev
. (E) eQenL. GsMwedenay |
,
The first step in the seed germination is imbibition of water which
induce the | ‘
(A) Stimulation of plumule
(B) Breaking dormancy
(C) Growth of radicle
D esumes metabolic activities

(E) Answer not known

dfleng pearggellan Wwge Hlaawns Bi e Higrsu@n Curgl, Qg awmg giarGHng?
Q) poaEmsg s LuGADS -

(B) g2 pésid g uGApg

(O AengGeur cuatidlmg;

D) Qs Qussibd gakEds

(B) e OsMwelicranay
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6.  Which is the stronger acid than phenol due to the presence of three same

~ electron with drawing groyps
@  O-Toluic Acid
(1i) Benzoic acid
(1) Salicylic Acid
(iv) Picric Acid
(A) (i) only
(B) (1) only
(C) (i) and (iv) only
(D%) only

(E) Answer not known

Semmeres AL aidlevts 10, HMD ity HCH T@EL e st Hper Qe
Q@S QubpETT Sieb 5?7 |
()  O-QLreGé ouflad
()  Quéems oibewb | -,
(i) s edls Sifad
(V) 96NE onded
- (A (1) wC @b
B 0w
(© () wppd (V) 0o
D) (i) e e
- (B) e Gzfweldens

CCS1P/22 6 . | B



Which is the one considered to be more important to study the History of

science 1s

(A) Ani_:iquarian curiosity

(B) Logical reasoning

(C) Scientific knowledge

(D)W Conjunction with philosophy

(E) Answer not known

Sfleflwe currpdleans spude B& pélunransras smeluHn e
(A)  uLpPbAUTmET Bg Sy Taud

(B) siés fHwunss sryeariisnarred

(©) . wdeflud sifley. - '
D)  spgiebgdn @eamiy |

(E) ofenL Qsfwefdrena

Which one of the following phenomenon cause adverse changes in global
climate pattern and wreak havoc world wide in the form of floods and

droughts?

(A) Carbon Dioxide (B%Nino
(C) Tropical cyclones D) Itai-Itai |

(E) Answer not known

SpsanamLcuDld ThE ey, 2 s leredldr, QeueTard eupL & eram euigeumsaTleD,
yellg sLluQeuiu gpenpselldy ungswrer wrpprisema gHUBSE, Qupesl -
Cupleysar Bl sTrawTons @) (HESng)?

(A) sfAwde eumy - (B) eréb — AGemm

(C) Qauluwear e @prasef D) @iimi~@lmy
(E) e Gsfweidveme |
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9. Match the following :

(a) Polyéthyleneglycol 1. Herbicide
(b) Bt Toxin | 2. Stress Tolerance
(¢) Glyphosate 3. Insecticide
(d) Proline 4. Cell Fusion
@ ) @© (@
A 3 4 1 2
®2 1 4 3
© 4 1 3 2
(D)d 3 1 2
(E) Answer not known
Spsaerr_auphenn QumESE s
(a) undl erflfen flaversmed 1. seoars0smae
(b) Bt péssar | 2.  oyss sHluysseaTeno
© SoeGurGsl 3. ysfsQsmad
(d) yGrmelen 4.  2frgm Gevenay

@ ® @ @

A) 3 4 1 2
B) 2 T 4 3
C€) 4 1 3 2
@) 4 3 1 2

(E) e Gaflueldme

CCS1P/22 ' . 8



10. Which of the following statement is/are correct NANOBOTS are : |

1)

@

3)
(4)
(A)
(B)

Robots that carry out a very specific function at nano scale level |

They can be injected into blood stream : ' : \

)

They can be used to measure toxic elements in the environment

They are very cheap to produce T -
(1), (2) and (4)
(1), (3) and (4)

(C)'/ﬁ, (2) and (3)

D)

(E)

(1), (2), (3) and (4)

Answer not known

Spssnamuaupmer ergl/creal sfwner sapg NANOBOT prlarmun’. sramiu@eug

e
@
®
@
)
®)
(©
©)

: (E)

@@ PG L uefllenu Qe 2 geyb préarmbi Lt serellewrer GrmGur gyEw
Qeupep Qrés premhsaiicn é-l'-u@ﬂ’ssswmb |
Qaunean sHDIFSPSD 2 drer ;5&8;0 Quingst_senar éIGTGﬁ]I_ DWeTURSSEONLD
Baumeom 2 HLSH Gaieug) s weSleureng | |

(1), (2) wpgw (4)

1), (3) wpgid (4)

(1), (2) wpgud (3)

(1), (2), (3) widmi> (4)

eflenL AaMweidene

g - , CCS1P/22
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11. was the first mission to be operationalized under the
National Action Plan on Climate Change (NAPCC).
(A) Solar Cities Programme (SCP)
(BWattmnal Solar Mission (NSM)
(C) Solar Green Building (SGB)
(D) Development of Solar Cities (DSC)
(E) Answer not known

sre Hlave wrHmb Gss — Codlu Qewd S gfer Sp QeubuBSSILL 2 6TeT (pged
Liewfl DG,

A)  @fu gl parmse SLb
B) GCsslu EMw qafl Lesf

C) ©w gl usme sy b

D) @w g g,a;uléjé;mﬂésr euaTitss)
(E) ofer Qsflweiicoana

12. Which Biodiversity park in India was announced as the 1st “Other
Effective Area — based Conservation Measures” (OECMs) site?

(A) Tilpath Valley Biodiversity Park
(B Aravalli Biodiversity Park
(C) Yamuna Biodiversity Park
(D) Adayar Ecopark |
" (E) Answer not known

- @BSwrellch 2 arer et LGIUIATL LBIST, (PSQOTeUGH LILIGNETaT LGS FTTHs UTgsTLL
genwons (OECMs) eidefsasiul Hererg
(A) Houg LETOTSSNEG LIOSUATY L EGET
(B) %u«m@sﬁ] LIsdgIuR L |E|,réjasrf
(C)  wenr LT LyhigT
D) L wury sHNESYD LmsT
(E) e Opfuelivme

CCS1P/22 - 10 | | B



13.. Which of the following are correctly paired :

3) KVK - | Kisan Vigyan Kendra
(1) SMAE - Sub Mission on Agriculture Extension
(iii) NSDA — National Skill Development Agency |
(iv) ATMA - Agricultural Technology Management Agency
A) (), (i) and (ii1) (B (11), (iii) and (iv)

(@) (@), (iii) and (iv) D) @), (1), (iii) and (v)

(E) Answer not known

Yemeumpeuereumiicy erg) #flwuing Genamas L (ReTeng ?

i) KVK - fsnan el gpiepmen Capym '
(i) SMAE - CGeemar élfleunsss genent Loy dams
(iili) NSDA - Gszélw fmer Cubun ( gpsew '
- (1v) ATMA —  efleusmu Qsmflem L Gméorrainmm (PELD
&) @, @) wppw (ii) (B) (), (1i1) wppd> (V)

©) O, (11) wpgo (Qv) | D) @), (1), (i1) wpgd ()
(E) oS Gaflweidvena : :

14. How many number of Ramsar sites are identified in India till

15% August 20227 -
(A 82 - (B) 78
V5 ®) 70

(E) Answer not known

@pHwurele earggenan prbamt GLmasdr 15 epsev® 2022 eueny serri il Hidreran?

(A) 82 (B) 78
€y 75 (D) 70
(E) eSen QzMwelicrana

B , 11 CCS1P/22
[Turn over




15.. PM Gatishakti is a transformative approach for economic growth and
Sustainable Development which focuses on

(A) Educational Development (B)\‘fltlmodal Connectivity
(C) Empowerment of SHGs D) Enwronmental Development .
(E) Answer not known | -

PM sdls5d aramug Gun@a_‘rng;_mf cuemiié opmd Flepevowirar suenitedlissen rHmy

AMG P@PLTGD B3 o sauend deqibgiflng.
(A) s aiarisd - (B) uergps @émmm _
(C) SHGs-é oflem . D) spmiiuw @Gpfema cuariss

(B) o GsMweticoana

16. Which one of the following is NOT an objective of the Union
Government’s ‘Beti Bachao Beti Padhao’ scheme?
() Prevention of gender biased sex selective elimination
(11) Ensuring survival and protection of the Girl child
(iii)) Ensuring education and participation of the Girl child
(iv) Crtfeating‘._n,r a fixed deposit in the name of the Girl child concerned

A) @only (B) () and (ii)
(©) Gii) only o (m%) only

(E) Answer not ‘known

SDETERTLICIDMIET 6TF) Gt_n_lq. usGsr, Guiiy usGsn eTayld @m@u_l .@411#16&1 QL_L_QQGUT
Crrasb Hent_wing)? ,
»  urder a;uq,m uenL ullevmen Gg,r'rsq baasfenens seoL Qeipe
| (1) Quewm Ghmssaien aumpey wHHID LTGSTI@en Lguﬁ] Qelige
(iil) Quar GHmssaian shed LHHID LGapAear 2 il Qe
(iv) sbupstUCL Quer @ggmgsuﬁlm Quuiler Hrbsr alinyg Gg,rrmamu_l

- gpubsgIse |
A @) wew S (‘B) i) wppid (i)

(B) efan Qpfliwefidana ' : :

CCS1P/22 ‘ 3 12 S i | Br



17.

18.

Read the list given below carequy of dignitanes and find out amohg

them the correct hlerarchlcal order with respect to their rank and

precedence
(i)  Chief Election Commissioner of India

- (11) Cabinet Secretary

(iii) Chief of Army Staff - .
(iv) Deputy Speaker, Lok Sabha

(A) (), (iii), () and (i) : B) Gv), (iii), (1) and (1)

(CWVT), (iv), (i) and (i) D) @), (1), (iv) and (i)

(E) Answer not known .

&Gy Qan(pssiiu’Heter 2wf ugel Sigeuwisaiidr ulyumas swuallss seuiser
ugefluflen g LuenLudeomen ez Menwoll Ligflenets UL igwenaws sarLHs.
() @pHu seeemn Caisew symamuir

(11) 5P SimwEsTmaE QLT -

(iil) swwow Grrame s

(1v) wasaTee GEeTS SO |

(A) (), (i11), Q) wpmd (1) (B) (), (i11), (i) wppud (i)
©) @), ), 1) whgud (1i1) D) @), Gib), (iv) wppo (i)
(E) e Qsflueiavame - ' '

'Whlch is the international coalition of solar-resource rich countries that

are collectively addressing common challenges on solar-energy
applications? :

(A) Igternational Solar Energy Society (ISES)
(BM” International Solar Alliance (ISA)

(C) International Renewable Energy Agency (IRENA)

(D) International Energy Agency (IEA)
(E) Answer not known -

Giu ywhped LwaLrhsaiied Qurgeuns 2 drer saurdsamer STULE GOSS smiL s
Meundlés o meunar — @M euatd WGBS BrHsaflen sl L aniliL 61g)?

Q)  siuGss @i suHod sapst> (ISES)

(B) sieuCss @ Mw 568 sl Lenfll (ISA)

(C) siauCss g19&s6858 <pnd apaemw (IRENA)

(D) &reuGse < hped waew (IEA)

(E) &L Qsflueidame

13 - : CCS1P/22
{Turn over



19. Arrange the following Indian Women Olympic Medal Winners in
Chronological order '

1. Saina Nehwal

2. Lovlina Borgohain

3. Sakshi Malik

4. Karnam Malleswari

@A) 2,4,1,3 B) 1,4,2,3
CWVT 1, 3,2 D) 4,1,2,3
(E) Answer not known

galloids Gumliguied usssd Qeen daapn Qb wealler staeaflasiiug.

popuUBSsaD
1. eeenm Apeured
2. weuddem QurTGsrenga
3.  &na§ omels | |
4.  siemb weGevaveul
@ 2,413 (B) 1,4,2,3
© 41,32 D) 4,1,2,3

(E)  ofev Qzflefdana

20. Palmer index is associated with which of the following natural aisaSter?
(A) Earth quake - (B) Volcano
(CWDrought o (D) Flood
(E) Answer not known

urdwi GG Spsramibd @ Qubhans FHDECHTH G e wg
(A) Heop@ssbd . (B) erflivepev

C) aplih (D) Qauéramp
(E) oo Qsfwelicoeme '

CCS1P/22 N 4 : B



21. Match the following and choose the correct option relat-ed to ISRO :

(a) URSC 1. ISRO’s virtual space Museum

() ITTP 2. ISRO satellite centre |

(¢) SPARK - 3. Space science for school students
(d) YUVIKA | 4. Technical training for ISRO staff

@ ® © @
A 2 3 4 1
B 3 1 4 2
cow? 4+ 1 3
M 4 3 2 1
(E) Answer not known

ISRO Qgniumer &lc.'pa;rremué.lgj)mm Qurmsd wHmb  slwrer  fenLeow

CaibolsHiése|bd
(a) URSC 1. ISRO aflen eflirgameucd evGued Blydlubd
() ITTP 2. ISRO gioansCandr faawl '
(¢) SPARK 3. wuarefl wremaisEnéanen aflarCeiaf oifiafwd -
(d) YUVIKA 4. ISRO &fler uamﬂ@nmfra;@ésa;rrm Qsmfled HILUL
LG |
@ ® © @
(A) 2 3 4 1
® 3 1 4 2
(C) 2 4 1 3
D 4 3 2 1
(E) dfler Qsfweiicvaney
B - - 15 | CCS1P/22
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22. On April 10, 1802, the Great Trignometrical Survey of India Commenced
its work from _ city.
(A) Delhi . '(B) Calcutta
(C) Bombay ' Md_ras

(E) Answer not known

@bHUL wsCarameic ey Bmesnd guiged 10, 1802 — wyb a6
pafléd geang elamans Ggm_mdwg).

N | (B) sosszm

(C) LM : ' (D) wgyrev

(E) e Qsfluefdamea |

23. Carolyn Bertozzi, Morten meldal and Barry sharglers won the 2022
Nobel prize in Chemistry for?

(A)\/For the development of click chémistry “and bioorthogonal
chemistry - '

(B) For discoveries concerning the genomes of extinct hominins and
human evolution . :

(C) For the development of asymmetric organocatalysis

(D) For the development of a method for genome editing

(E) Answer not known |

sGyradlesr QuAGLmedl, CGumiLenr Qweére wHpmbd Cufl egmideiev < ACuwimT

2022 b g @&rRésrar Gauuuialler ergpars Crme Liflens Qeuenpri? -

(A) Hafts QsBiev M wHmb LGN TECSTS® Qsficvol Muden quanitéfians

(B) <=ifbgCurer Capmiaflansafien wru@sseT Log)guu) weflg Lflermob ubdlu )
sy LI SEnEaTS

(C) sw&sppp yisCamar_dlfader cuariéfEsns

(D)  wrugy engt g apepullen euaiEHEsTS

(E) e QsMweldena |

CCS1P/22 | 16 B



24. Match the winner of medal in common wealth games 2022 with their

sport.
Player

(a) Sharat Kamal

(b) Lakshya Sen

(¢) Mirabai chanu
(d) Nikhat Zareen

(@
@ 1
&5
©) 4
O 2

(b)

2
4
2
3

(¢

3
2
1
4

Sport
1. Boxing
2. Weight lifting
3.  Table Tennis
4, Badminton
(d)
4
1
3
1

- (E) Answer not known

smwer  Geiwg 2022  ellenemiim’_iged ugeisé;Lb Qevenpeuitsemer  Dleuisang
ellenemuim’_ (R QUiTSSIS :

eflenemum_(H eSgm | efleverwim_(p)
(a)‘ GCagyL- Swed 1.  @sg s
(b) eseSiwur Qsen 2. uEsEIEEED
(¢) Syrumi smgy 3. CSLongg LbS)
(d) ﬂ#asr'_aq,rﬂén 4. yupgy

@ ® © .
A 1 2 3 4
B) 3 4 2 1
(C) 4 2 1 3
D) 2 3 4 1
(E) efler GzMwelicrena

17 | CCS1P/22
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25. Which one of the following Indicator is not used to calculate Human
Development Index (HDI)?

(A) Life Expectancy - (B%?I
(©) EducationIndex (D) Per Capita Income

(E) Answer not known

Gémeumeuanaupiled eThS h GHlET 1y wallgeuer GobUT . (& GHlUL eLs samsdL
pwetuhEsL (Heudlarenen? -

(A)  eumpprer GBNQJ.&IGTGLI (B) msiCeunit eflenen @@uﬁ@*

©)  sied &HSG (D) pafpuiaguren

(E) ofenr Qgrﬂﬁaﬁ]é)ma)

26. “Nambikkai Inaiyam (NI)” a Tamil Nadu Government project about

(Aﬁtatewide Block chain infrastructure

(B) Source of resident data fof Tamil Nadu

(C) Unified access to e-services of different government departments
(D) Providing professional resources and training to decision makers

(E) Answer not known

“Nambikkai Inaiyam (NI)” s8ppr® <6 HCLtb LpBug

(A) | wrhle wpeugb Block chain o ¢l L el

(B) slpnrigperen @gwfienw greysaflear gy smib

(O uveGeamy sipsmmass @mg)as_aﬂéin e-Comaus@haEasTan Q(hiHamambe <Ig s
(D) (y)q;Qw@uﬁmﬁ&@é;@ Qg mflevgieny cueTmGaT OHMID Lullpsamar GuiprkIEGSe
(E) e&fen Qzfiefdena |

CCS1P/22 | 18 ” B



27. Which is correct?

HYV - High Yielding Varieties

@)
(i) MSP - Maximum Support Prices
(iii) PDS - Public Distribution System
(iv) IPM - Integrated Pesticide Management
(4) (), (i) and (iv) only
(B)A and (ii1) only |
(C) (1), (ii) and (iii) only
| D) @), (iii) and (iv) only

(E) Answer not known

5 #rﬂu_lrrsmgj?

@)
(i)

(iii)

(iv)

)

®)
©
®)
®

HYV — oidls sleaneanésed Hid cuanssar

MSP — wifsut s g sre cleve

PDS — Qung eQfICwias apern -

IPM — gphdmanhs LiféQsmad Goanarento
@), (i) wpgud (V) 0 Gd

(i) wpmid (iti) wr G

(1), (i1) wpgw (1i1) v Hibd

i), (iii) wpgid (v) vl Go

e g fuwsehlcveney

19
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28. Kalaignarin ‘Anaithu Grama Orunginaintha Velan Valarchi Thittam

aims at

1. Increasing the cultivable area -

2 Bringing fallow land under cultivation

3.  Changing the crop pattern with introduction of new crops
4 Augmenting water resources

(A) 1,2and 3 are correct

(B . 2, 3 and 4 are correct

(0%2 and 4 are correct

(D) 1,2, 3 and 4 are correct

(E)

Answer not known

soaElar simasg Mo @ELdmahs Gmdrrraim cuarisd) S sdlem @és_;%]uJ

Crr&sLb

1.
2
3.
4
A)
(B)
(©

(D)
(E)

ccsip/2z

snGUlG. uFLeu SlslléEs Qelige
QL THg) Hosems F1ELILEE QSTaRT(H eubseD
yw vullrsemer sflapsiLBggieugen ppald LW (peomeni THHSH |

B %g,rrqrm;mm QUBEEGSD

1,2 L‘D,fiJngLb 3 gy fwener &M
2, 3 wpmd-4 yHuee s
1,2 oppd 4 gpueme s

1, 2, 3 womwb 4 ydwee &f
AL Ogfueidema

20 | - B



29, Match the following :

Anaithu Grama Anna Marumalarchi Thittam

(a) 1997 1.
(b) 1998 - 2, Varumun Kappom Thittam
(c) 2006 3. Samathuvapuram
(d) 2009 4. Namakku Naame Thittam
@ ® @© @
@avE 4 2 1
“® 4 3 2 1
© 4 1 2 3
M) 3 1 4 2

(E) Answer not known

Spsaercupenpl GLITBSSIS :
(a) 1997 1. oeansg Apmo sierer wmoeiFEAE S
(b) 1998 2. aumbeer smuGumd HLLb
| - () 2006 3 FOSGULTD
4. pBw&EEG HTGL ﬁl'_I_L'D_A

(d) 2009

@ ® @© @

@ 38 4 2 1
B 4 3 2 1
© 4 1 2 3
3 1 4 2
(B) eofler Qgflwiefdvena -
B - . - CCS1P/22
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30. Which among the following is a scheme of Govt. of India for ensui'ing
the safety and dignity of sanitation workers?

(A) Smile
(B)/ﬁamaste
(C) Amber
(D) West

(E) Answer not known

JEN] LA é{ljﬂein Geneumid Hilt BSEHeT gL Te @g,frgé]ammr’r&aﬂ@r un@jasrrumuu.@,
diemuwb 2 mfl Qalieug) erg? o

(A) evenibéd

', (B) bwevCs -
(C) eubuir
(D) Qeusvi_

(E) P Qsfluefeene

31. During which Period Bronze Icons of Nataraja deity with four hands was

casted?
(A) Chera Period " ®BMhola Period
(C) Pandiyas Period : (D) Shunga Period

(E) Answer not known

ahs STELL SN BranE @ssEhLen Fmiqw pLITRfler Qeustss Sererhise

QUMTTESIILIL_ L6817
(A) Gsrit sred : (B) Gsrfl‘.pr'r STEVLD
(C) unewTgwi sreld -, (D) sris srevd

(E) e Qsflueidame

CCS1P/22 | 22 | B



'32. Match the following Acts with its corresponding years :

(a) Madras Wild Elephants 1. 1882

Preservation Act
(b) Tamil Nadu Forest Act 2. 1980
(¢) Forest Conservation Act - 3. 1972
(@) Wildlife Protection Act 4. 1873

@ b © @

@Aa 1 4 3 2 .

evwf 1 2 3

© 2 3 1 4

D) 3 2 4 1

(E) Answer not known |

Meteu(mLd &L';L.réjasmm'ag,(ze;a?rr(g G}grn_r'rqsm_@ 2 @mhHaGarm( @p_nr@ésgm;T

(2) wsyme cuer wWinenenaeT LngSMILE Lt - 1. 1882

(b) SOPBHTH Guan& FLL 1D 2. 1980

(C) euem LIgIEMIILE 81 Lib . 3. 1972
. 4. 1873

(d) euen elemi@aser LTgSTUILE &L LD

@ ® @© @
A 1 4 '
B) 4 1
€ 2 3
D) 3 2
(E) e Gsfucideme

A R N W

2
3
4
1

B 23 . CCS1P/22
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33. Which of the following statements are true in respect of
Dr. Muthulakshmi Reddy?
1.  She was the first woman in India to get a degree in medicine.
2.  She was the first woman Legislator in British India.
3. She was the first female student to be admitted in Maharaja’s

. college.
4.  She was the first woman President gf the legislative council.
(A) 1,2and 3 (BY' 2, 3and 4
(C) 1,3and4 ‘ M) 1,2, 3and 4

(E) Answer not known

LTsLi. pssQeesdl  Qrlgewl Quimsseuer Gaeumbd  sapmsaie v 65
O_GRTENLOWITENS;) ? ' '

1.  @sdHunede wmsgeusso Ul b QuDD PHD QU Lo,

2. Al gey @bHureden e &L oenn o mliAenyrarnT.

3.  wsmyry sdgriild ks upse Qe wramelwmeurt.

4. sl seulen apsed Guekr SEEEUTTEUMIT.
A 1,2 vpmw 3 , B) 2, 3 wpmw 4
©€) 1,3 wpmw 4 D) 1,2, 3 vpmw 4

(E) ofen Gzflwefeena

- 34. The significance of Tamil Nadu Panchayat Raj (Amendment) Act 2016
(A) Modifications in three-tier system
(B) Constitution of District Planning Committees

(C) Transferred specific functions and powers to Panchayats from the
State Government

(DWO percent reservation for women
(E) Answer not known.

SWODBEIH uEhsTwsg Tre (5L Slmss wEsrsT) #L LW 20166 HpliLbsd
(A)  epan®sE wonld LrHpULLL S
(B) wral_ L& @@és&.meT DS SE)
(C) GHLAL L sifsmrisaar wihle Sirdel@mba) LEFMUSESE5HE wrmplul.Ls)
M) 50 s5c0dls QL pEI6EH QuanseniE AsrHESILL LS
(E) elen Qsfweleme

CCS1P/22 24 - | B



35. During the early re31stance against the Brltlsh who issued the
“Tiruchirappalli Proclamation” : -

(A) Veerapandia Kattabomman (B) Velunachiar
(CWMMaruthu Brothers = (D) Puli Thevar
(E) Answer not known
WfCawTsersE afyran %uwua;rrw - efliuden  Gung ﬁ@aﬂqnuumaﬂ
rsLenpeng” Qauafludl Lcur ‘
(A)  eSgunedmgw s Qumboes - (B) Geug)_f mrr#ﬂu'.lm'r ;
- (C)  wmg sCangyisdr (D) yeig Cgeurt
(E) & Qsfluefama

36. Match the following :

Name Related to
(a) Swami Sahajananda 1. Oppressed Hindus
() M.C. Rajah 2. Tamizhan ‘
(¢) Pandit Iyothee Thass 3. Nandanar Kalvi Kazhagam
(d) Veeresalingam 4. The Widows Home
( ®) © (@
(A 1 2 4
B) 1 3 2 4
<1 ,2 3 4
D) 4 1 2 3
‘(E) Answer not known
QuTmESHS |
Quuwi | QgmfyeLwg)
(a) seumdl SSRGS 1.  siwpev® aflan@Ben - ;
(b) M.C. grgr 2. gflpen
(€) uemgl HCursH e 3. pheet sHlE Spaid
(d) &SGrsiiusp 4. éﬁl,sa)m @eaid
@ ® @© @ o
Aa 3 1 2 4
B) 1 3 2 4
© 1 2 3 4
D 4 1 2 3
- (E) <fe Ggfwueidame
B - 25 | . CCS1P/22
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37. Assertion [A] : Human Resources is necessary for the progress of any

country

Reason [R] Investment in educatlon and health of people can
result in a high rate of returns in the futtire for a
country

(A Both [A] and [R] are true and [R] explains [A]

(B) Both [A] and [R] are true and [R)] does not explain [A]

(C) [A] 1s correct and [R] is false |

(D) [A]is false and [R] is true

(E) 'Answer not known

awmpm [A]  : ahs @m Brigen GuburligHEd wells eeard oFHurafluwrs
Bosdng. ‘

smyeord [R] ©  s@el whpmib wésdr posHid wss® Qelieuser efaarauns Bl i dn

' Tt srwGde fla sieray Leen fepL_SGLD. |

(&) [A] woprd [R] @reanGib shuneng wppi> [R], [Aleas erésng

(B) [A] womb [R] @uesr@o sfwnang [R], [A]leves cleréseldamar

(C) [A] sflwrnens) wpmb [R] seupreng

D) [A] seupreng wpgn [R] sfwreng

(B) e Qsfueidveama

’

38. Which among the following institutions secured no. 1 overall rank
according to national institutional ranking framework?

AMTIT, Madras (B) IISC; Bangalore
(C) AIIMS, Delhi (D) IIT, Bombay
(E) Answer not known : :

Qeraumd Ppeeisdiie ag Csflu Hpeuer sr sl LamoibGar Ly @l QLTSS
sraflansuiier gl szt AUDDE? '

(A) IIT, Qsenwen (B) IISC, Quiisgyi
(C) AIIMS, QL . - (D) IUT; giverrs
(E) &flen Qsfwelvena -

CCS1P/22 | 26 | | B



39. Match :

Tinais ‘Their Gods |
 (a) Kurinji _ 1. Kali
‘() Mullai 2. Murugan
(¢) Marudam 3. Indra -
(d) Palai 4. Tirumal

@ O © @
A 3 4 1 2

B) 3 4 2
(CW2 4 3 1
D) 4 2 3 1
(E) Answer not known
Qun@wa;
@“’W . sLeyer
(@) Ghed srefl -
(b) (5061)@9@_  PmHEE .
©) w@sd @bdyen
() urewe £ mioned
@ @G ©

A 3 4 1
B) 1 3 4
) 2 4 3
D) 4 2 3
(E) aferL Qsfliwefdene

T N Il i S o
S

40. Gandhiji established as ashram at Sabarmathi. Likewise an ashram was
~ established in Tamil Nadu b_y Rajaji. Where was it established?. '
(A) Madurai | | (B) Vgdaranyam -
- (C) Salem L - hiruchengodu
. (E) Answer not known '
'asrr‘m@utq.am suingl erengiLd @L..g@m @M BAywoid a.m;surr&éﬂwrm .=9|C3§ Guned
@ungngl silpssfle e %eﬂmou) e meunsElarir. erhiGs Siang a_@eurrséleurrrrr?

(A) wgeoy g (B) Geugyeimud
(C) Gsaw (D) wmé@sniGan®
(E) oo Ggfucieeme S ,
B o o .2 ~ CCS1P/22
' ' . [Turn over




41. Which of the foilowing statements are true about Ramalinga Adigal?

() He started the Samarasa Suddha Sanmarga Satya Sangam
- 1n 1865

(i) He was against caste system

(ii1) He established Satya Dharma Salai in 1867

(A) '(1) is true

(B) and (ii1) are true
(CW (1), (1) and (i11) are true | _
(D) () and (1) are true - ‘ | | o,

(E) Answer not known

Qéﬂ@@mm@ﬁ)gm Qrmoalbis Sjgadr LHBlul 2 @reLowITar Sabhy 6Tgi?

1) @rmodiE i &6 SO S55 FATOTTES SHWLI srsseng 1865-0 gmb9gsmt
(i) Qrmodinis Sigsa QAL PSS aflfnaneutt

(iii) @rmodits sigasdr 1867-o ssw siw srenwenu Hipedarmiv

(A) (1) vl G 2 @rewLLTES S |

(B) (@) wpmo (iii) wr @b 2 GTEHLLITETS)

(©) (), 01) wpmpw (111) 2 a@wemwWTEF

D) @) wpmd (1) Lnl;@Lb-asdvrmmUJrfmg

(E) oo Qsflusidame ‘

-

42. Find incompatible pair in the following :
(A) Pradhaba Mudhaliar Sarltlnram - Veda’najragam Pillai

(B)/Sugunasundharl -~ Nadesa Sasthiri
(C) Kamalambal Sarithiram ' — ‘Rajam Ayyar

(D) Padmavathi Sarithiram — Madhavaiya
(E) Answer not known ‘ o

QummpsT Qememens sar_Hls

A)  Qogmu @gaﬂunn&rﬂg@rjm - Caugpmuatd Qérever

B) @ Fpsl - pBOLs srevdif
(C) swerburedr sAgHmd S = TRl S
D) uswraud sNsHyd - oTs@euT

(E) e Qsfwefdena

CCS1P/22 ﬁ o 28 | . 5



43,

44,

() e Qsfuciene

In 1921 at Erode, E. V.R. picketed toddy shep Two women also

~participated in picketing. They were the first women to be arrested for

plcketmg toddy shops in Tamil Nadu. Who were they?

(A) agammaiyar and Kannammal -
(B) Nagammaiyar and Moovalur Ramamu'tham Ammalya.r |

(C) * Kannammal and Muthulakshmi Reddy
(D) Maniyammiyar and Nagammalyar
(E) Answer not known

FCrrlgeé 1921-b e r.Cau. g gLIS]Q‘I_T)rI'I_I.q.GD asm@esa;mf_ wdlwe Gumgmie b

Brgdami. 2LCung Qrean® Quekser oeuLen Capel oflwe GumymL gée

FHULL . euel@ duaksdr sial = SeTEhEEML wlwed GurnIm_Lgsﬁm
FRHULLSDENSE @gm@p ebleb en& g CFWIUL L GUTSET. BIEUTHET WIFT? .

A) g,rra;msmmu..rrrrr Lng)gjm m‘ramj,n.m.orrsrr _ |
(B)  prsbepwowni LOHHID peIGTT @TMOMBTSD ST
(C)  semamblomer PMId ApSgieoL.sisl Gl

(D) wveflwbewwrT LHHID BrEDELOWINT

(E) aflanL Qsfwefdane -
Which of the following are correctly palred"

1. - Nizhal Thaankalgal S - = Valgunda Swam1gal _
2. Hindu Progressive Improvement - Rajaram Mohan Roy
. Society

3. Samarasa Sanmarka Sangam - Vallalar

4. Sejf Respect Morality - =~~~ Vedanayagam Pillai
(A)Afmd 3 - " '(B) tand2

©) 1lonly , (D)12and4

(E) Answer not known

2], CAN Giufr@gg,uuu_ Geprig.sears Gg,rrp@g@as&mm

| ‘r_F)lkpGu BIRIGLHET ~  au@aTL SeumEeT
2. @& epdCursg paGanpp shsD —  gUgmymb Gmrrasm I]'ITUJ
8. swpsseOMiES SEED R  QUETETTITT

4. swoflures b A ~  Geugpmusid I_Cl]GTGIDGT

A)  1wppo3 | - (B) lopgh2

©) lwoipw . M) 1, 2whmib4 -

2 - CCS1P/22
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45. Choose the correct kural for the égplanation given below :

It is more pleasant to hold the dart that has missed an Elephant than
that which has targeted the hare in the forest.

(A)\/Kaana Muyaleydha Ampinil Yaanai '

Pizhaiththavel Endhal Inidu
(B) Aakaaru Alavitti Thaayinung Ketillai
- Pokaaru Akalaak Katai |

(C) Kettinum Untor Urudhi Kilagnarai-
| Neetti Alappadhor Kol

(D) Ulluvathu Ellam Uyarvﬁllal Matradhu
" Thallinum Thallamai Neerthu

(E) Answer not known

Epasnapiid Qun@@&@fﬂu Hmsapoe Agfey Asiis. - |
APw srflumsefiCa qpwenny Qeauphl Gupems QEIL; 'Q;ulﬂtule;;rnﬂu_.uﬁla;aﬁcw ey
Camevelll Siencugy Hpuy ' | T
(A)  sren d,ou.;@cuuhg <bfefer wrenar
| | Yenps5Ceucd egbge G g | |
(B) Qbsrrg Sierelll g srullgym Caiy dena
GUNETY BIGOTE S |
(C) Gsluggub 2 G pd daeargsn
| Bl seriiuGgmit Gamed |
1)} ;-J_dr@m Qe 2 wifeyeTere mﬁ)pg
perefigp poraman fige
(B) o Qpfucioms

CCS1P/22 ‘ 30 R | B



46 Match the following books with their authors and find the correct order :

(a) Ulagam Sutrum Than:ulan 1.;' j Des1ya Kavi.
(b) Gnanara_tha.m 2. Swaminathan |
~ (¢) Thanneer Thanneer 3. ' Ve. Ramalingam
| (d) En Kadhai | ' 4. A Karuppan |

@ & © @
@ 1 2 3
B) 2 1 3
C ©3 4 2
ovf 1 2
(E) Answer not known |
LIL'.lt}.u.IG'D. I-@é edrer mroseer utigue I-Gé o .drar prenAflwis @y er
Qunmss, &Cyp G.srr@aﬁ&uUL@mm @gﬁluﬁ@mms Ga;rrmr@ &lﬁu.lrresr eﬁam_mu.ng;

W o A A

Ggrrgg@gs@umm
ol LnLu;us’o II

(a) casb &p’)gl.b Fiflpen | 1. Gg;ﬁm-mm'

(b) esremsn - ' .2' &mnﬂpn,sm :

(¢) peaneic sementit - ) " s 3 Ga @unm«;&rﬁw&m

(d) crén sang 4. g.smluen
@ ® ©© @

@A 1 2 3 4

@ 2 1 3 4

©C 3 4 2 1

4 1 2 3 |

(E) efleni G,s{ﬂu_leﬁ'lwsnw

B o I ! o | CCS1P/32
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" 47. Who said these lines to whom?

“Maarivaram koorin mannuyir illai
Mannuyir ellam mannaal Vendhan”:

(A)Wﬁanimegala deity to Udhayakumaran
(B) - Sudamadhi to Udhayakumaran
(C) Dheevathilagai to Manimegalai
(D) Manimegalai to Udhayakumaran
(E) Answer not known

“iprfleumib salen ms&t@m&]fr Eevena

Weingnudlit erevavid WekramtaT Gouppen — ere
Wi ? WnhéE - aTSSS!?

(A) wafGwsor Gsleub 2 SUGLIIHE
(B) sgpofsugoraise

(C) SafowswafiCusawss

D) weafGuosma %m@mg@l&,@

(B) oferr Qsflwefdenew

48. “Urellam koodi olikka azhuthittu
perinai neekki pinamenru perittu”

Who deﬁned death as a undefiable force?

(A) Appar (B)Y Thirumoolar

(C) Sundarar | (D) Manikkavasagar
(E) Answer not known : o

“ar@rdemb snly ellEs S HL
Cufieer B&fL1 Genrd eremy CLALG”

arané ey o aiSgID Herawrewe aGégs mblueui wmi? |
A)  wwui (B) S

(C) apsyi | (D) wrefssansst
(E) QS]GH)I_“G]g;lﬂUJQ(ﬂG'DGDGI.J '

 CCS1P/22 32




49. Choose the correct meaning for the following sentences :
1.  Palakudai Neezhalum Thankudai keel Kaanbar

2.  Iravaar Irapparkku Ondru Ieevar

/ _
(A) These two statements appreciates the prowess of the king

: : . [,
(B) These two statements appreciates the philanthropists
(C)¥ These two statements eulogizes the farmers
(D) ‘These two statements talks .about the humble person

(E) Answer not known

Epsangmiib spnsEns@ v QUTSSLOTen Gurr(r;jmmg G};;,rﬂm Qs
1. v Boib stEmLsEpE 'a;frciarur? -~

2. - @nyeuni @uﬂum‘r&@ Grevmy FFéJI'.r.

(A) Qmaﬂ uduré aufls@sib sipsfldr dumenwaws Cusdlaman

B) Qeedyar® aufis@nid mﬁmaﬂ@ Quenenwils (Surrgj)gué]érg)m
(O @eueligan(® @ﬂ&@ﬂ) 2 weaufer QuasenoewL (Bua;eﬂs‘am)soj

(D) Qeéuelirar® aufls@nd uaileyerarcuaiien Lamenul GUThnHenmer
(E) eflenL Gglﬂtua?ﬂé)a)g)

B | 38 CCS1P/22
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50. Nadaakondro! Kadaakondro!!
avazhi nallai vazhlya mlanae'

Whose character plays an important role in the shapmg of the world
Emancipation in Purananuru?

(A) Women (Pendir) (B en (Aadavar)
(C) King (Arasar) (D) Priest (Anthanar)
E) Answer not known | '

“BrLnQsrenGpm a;m_r;Qa;rreBTG;orr
Sieuauif peorere aumfus HleoGer”
‘GLDQSH@H) q;o([brr@mbguﬂ Lm_d cws Cuobunypg wrie @@asspm,s
Sl UL@LWNES sagflanmg? ' -

(A) Quamgi B) sy ai

©) s D) sipgeri

(E) dfle GzRwcioene

51. Whlch Festival was celebrated throughout Tamllaham dunng the

Sangam Age?
- .(A) Adippooram | (B) Onam
(C) Navarathiri () vath1ra1

(E) Answer not known

&g anagHle sWllpsd appeaudaid GarerLm oL uaunq.sm; crgr?

(A qlymd (B) gemd
(C) paummgHf : - (D) &meurfeoy
(B) o9 Qsflweldama

CCSiPi22 o 84 L » B



52. “Kavarﬁm Kazhagamum Kaiﬁm Tharukki
| ‘Ivariyaar Illagi yéar” ——'1‘;0 whon; does.fth‘(.e' advice 1s Said 1n tlﬁs Kural?
, (A)‘; Guarﬂ_s
N | (P.,)' -. Ambéssé.dors
©  Ministers |
(D)’(ﬁings - | 7'

(E)- Anéwer not known

: f‘&a@llb_ 5@5@& S WLD §@$'¢]

@;@J‘ﬂm i @eend qum’ _ @é - u.:ir@é;@ é‘-ﬂmmu . ?. -
@) srowtadr

® gt
“(©) élmbe'rsr'r.ssﬁ

(D) Ceupsiimer .

(B e&]mLQgﬂmeﬁléwé

B S s " ccsippz
' ' : : ' : ' ' [Turn over




53. Match the following with List I with List II :

List I |
(a) Thirumurukarrupadai
(b) Pofunaratrupadai-
' (©) Simpanatrupadai
(d) Kurunji Pattu :

@ ® @© @
@a 1 3 2 4
® 1 2 4 3
s 1 4 3
D) 3 2 1 4

(E) Answer not known =

List II |

Mudattamakanniyar
Nakkirar |

.Kapilar
Nallur Naththathanar

| Qeneueuaneupenmil L igwiéd I-Cor® vl igwe II-eear Qurmssis

Y
(b)
()
(d)

(A)
(B)

(OF
@)

(E)

CCS1P/22

vlgwel

SpEaTHmiLLemL.
QurmsrTOmIILeL.

SmuTERTARHMILHIGHL

GHesd um_ @

@ o

1 3
1 2
2 1
3 2

allenL QzMwedicvancy

(0

N

(d)

B L

36
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54. Find out the missing value in the givén figure.

A 8

B) 64

(CV216

o 25

.(E) Answer not known

-

QanPéastiul L uLsHe UL aamefian LHUDL sTETE. -

@ 8
B) 64
- (C) 216
@) 25
(E) eofen. Qsflweileena

B | | - | . 37
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55. Find the common ratio for the geometric sequence 0.15, 0.015, 0.0015,...

(A)‘él o . ® o001
(€) 0,001 | | O 1

(E) Answer not known

0.15, 0.015, 0.0015,... eremp QumsE Qgmi mrﬂ@&qﬁ]e&r Qurgelldlgib sTems.
4) 0.1 : (B) 0.01
(©) 0.001 S ) 1

(E) oflen QgMueideme

56. Find the sum of 12 + 2% + ... + 192,

@) 2500 - ® 2400
(C)\éi?o_ T D 2570 -

(E) Answer not known

I (HSD SRS : 12+22 +... +192
(A) 2500 \ (B) 2400
(C) 2470 | (D) 2570

(E) efenr G,srﬂlu_veﬁlsba)a)

CCS1P/22 ' o ., 38



57.

58.

LGV

(©

‘A’ can finish a work in 18 days and ‘B’ can do same work in half the time
taken by ‘A’, then if they work together then what part of same work
they can finish in a day

(A)

3&

© (D)

(E). Answer not known

20 o~
| o

‘A’ o5 Caumavanws 18 prrlsefled aprsdiprit. ‘B’ ©Gs GaumaaniL g &8 ‘A’ TREGLD
presafieo urdlemw erRESHprd erafléd Geusd Gabay 20 prefle  apy&Eo
Gouenauller ermey erenet? |

B

- D)

~3|0 Ol
o[ Sy

() offen GsMweicrana

The side of a metallic cube is 12 cm. It is melted and formed into a
cuboid whose length and breadth are 18 cm and 16 cm respectively. Find

the height of the cuboid. ' ‘
(A¥Y' 6cm ] (B) 7cm
(©) 8cm D) 10 cm

(E) Answer not known

2 Consggned e (b a;sma&gm,sﬁm uEs earey 12 @s.15. Sigenen 2 HEd
18 Qs feord wpgd 16 Qe SseED pdar @@ asasr&@smma;m
2 maun&asLLUBEDG. SpS sens AseicussHdar 2 WTHmss STamns. '

(A) 6 Qs.b. ' (B) 7 @s.85.
(C) 8@s.s. (D) 10 @s.8.
(B) ofer. Qgflweiioans |

39 | cCstPre
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59. The compound interest on ¥ 16,000 for 9 months at 20% per annum

compounded quarterly is

A T2,599 . (B) T2,572
(C)\/t 2,522 | (D) ¢ 2,502

(E) Answer not known

20%, gen® algdd STRIHGESE RHUOD aly sEEALILEDL wopudd
T 16,000-4@ 9 wrsisEnse AaLsED @mIQ el igLres |
(A) ¥ 2,599 (B) T2,572
(©) T2522 D) T 2,502

(B 'aﬁlmi_leﬂuJeﬁlé)mm‘

60. In what time period will ¢ 10,000 earn an interest of ¥ 2,000 at

10% per annum?

(A%ears (B) 5 years
P

(C) 6 years | (D) 3 years
(E) Answer not known |
oEd T 10,000 geg, Aw0sE 10% aly oSsido, aspmer gaTdsen
T 2,000 asigemwsts Qupmis s ?

(A)’. 2 yaraer B) 5 c%méam

(C) 6 syem@aar | (D) 3 yyem@sar

(B) oo Agfiwelidrae

CCS1P/22 40 : | B
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61. A car travels 90 km in 2 hours 30 minutes. Then the time required to

62.

cover 210 km with the same spéed is

(A)V{houxjs 50 minutes B) 5 houi's 30 minutes

| (C) 5 hours 20 minutes D) 6 hours 50 minutes

(E) ~ Answer not known

e waopbs 90 H.5 gqumg 2 werfl 30 Pufl_misafied é!;l.é;@lb. 21Cs Ceussdled

210 &.B L enns 558 @b CHHd
(A) 5 wefl 50 HALmser (B) 5 wexfl 30 Hifi_rhiser
(C) 5 wexfl 20 BL8lL_rhrgei D) 6 wesh 50 B _fuser

(E) <fenr QgMweficdoens

The radius of two right circular cylinder is in the ratio 3 : 2. The ratios of

their heights is 5 : 3. Then the ratio of their C.S.A. is

aVs:2 - ®5:3 - In
(€) 3:2 o D) 2:5 |

. (E) Answer not knov;.rn‘

@ren® Cpi eul L o meveraailen gyrisaien elldign 3 @ 2 eens. Gogib eubiler
2 wyruseflan efflgw 5 : 3 erafles sieupdlen aueaTLTLILSaRen afflgw

@& 5:2 ®B) 5:3

© 8:2 ) 2:5

(E) ofen QpMaidrena

41 CCS1P/22
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63. If the HCF of x* + 3x% + 5x% + 26x + 56 and x* + 2x% — 4x® — x + 28 is
x2 + 5x + 7. Then their LCM is

@) (x% +2¢ + 8)(x* + 22° — 42 - x + 28)
B (x? + 22 - 8)(x* + 2x° - 42® - x + 28)
(C)/f2—2x+8 x* +2x° - 4 x+28)
(D) (x - 2x - 8)(x + 2x3 x+28)
(E) _Answer not known

x? + 3x% + 5x? + 26x + 56 wHmD xt + 263 —4x? —x + 28 crs&r;r;: u&ggxuqé;

Cameeusafier 18Qures. x2 +5x+7  aafld Seupdlenr  B.GQumL.-er  wHY

%Lb.'
@A) (¢ + 20+ 8)(x* +22® - 42® — x + 28)
(B, (x2 + 2x — 8)(3&:4 +2x3 - -x+ 28)

©) (x2 - 2x + 8)(:)54 +2x3 —4x® —x + 28)
D) (Jc2 - 2x - 8)(3:4 + 2x3 - -x + 28)
(E) el 'Ggslﬂ.uéﬁid)mm

64. Which one of the folloWing is a pair of co-primes?
(A) (16, 62) | (BV(18, 25)
(C) (21, 35 (D) (23,92)
(E) Answer not known

1Slemreu(meuaneumIeT eTHS ¢ph Gamy. eresmaeT aFrrﬁ"ue_slT CTERTEET?
(A) (16, 62) | (B) (18, 25)
© @135 D) (23,92
(E) e Qsflueldeame |
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65. If price of a tea increased by 20%, by what percentage must the

cdnsumption be reduced to keep the expense the same

(A) 15%% . ® _ i%
©) 17%% | D) 18%%

(E) Answer not known

Coullamauien el 20% HaNéEnlung Coulene LWLETLITL g6 Qe DTDHTOD
BméE Couliens LTI g has TESDEN FHESFD GPDSEIS Qamarer Gouar(Bib?

@) 152% . ® 162%
. 3 . 3
© 17%% B 18:;%

(E) ofen Qgflwclicrenes

66. Akila scored 80% of marks in an examination. If her score was ¥

576 marks. Find the maximum marks of the exammatlon

(A). 640 (B) 680

(C)~/720 B D) 700

(E) Answer not known

sfor gn Csield 80% wHQAuaTsme ngj)gﬁrc'rr. DUt  Quppgl
576 wHQuemadr. sibg Gaielear Awrss LHLCUGTEME STamTE.

@ 640 . (B) 680

(€C) 720 (D) 700

(E)  oflen Qsfwuefdee ‘
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67. Assertion [A}:

Reason [R]

" The New Educaﬁional Policy (NEP) envisages a

complete overhaul of teaching — Learning process from
the traditional teacher — centered to learner centric

.approach.

NEP ensures that holistic development of students by
accentuating their creative potential.

(A) [A] is true but [R] is false

(B) [A] is false, [R] is true

(CWth [A] and [R] are true; and [R] is the correct explanation of [A]
(D) Both [A] and [R] are true but [R] is not the correct explanation

of [A]

(E) Answer not known

s [A]

sryemid [R]

splsgedr - sHped Gewdgpenpuler @o@@immn@
wnérewidpsns, AU soelsQandias, urmbufu ey ffui
MWLWITE @HES SDDe, spuaflar eww a@]@@mg)u_frr&;'

2 heundlennsg.

uhlu  s@el Qsndaresudé  wremaiseien < Sa T menen

2 wigd seuisailar pemowres aueriéflaw 2 mf Aeige.

(A)  [A] eramug) s syenméd [R] eremuig) seumy

B) [A] aqerug geuy, @erma [R] erenuig s
(C) [A] womib [R] Qe @UmT@m sfl wpmb [R] ererug [A] Qe sfwimen

MeT&&LD

M) [A] vimw [R] Qo Grar@n o %amreu [R] eI, [A] e sfwiren

eNenESH LD

(E) aﬁlsm_@g,rﬂtuaﬁlsbmw‘

CCS1P/22
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68. ‘Promoting soil health’ and ‘making rainwater harvesting compulsory’ —
These statements relates to

(A) Green revolution " (B) Blue revolution

(C . vergreén revolution (D) Yellow revolution

(E) Answer not known |

‘weareuargeang CbUGSSIS® WHDILD ‘LDénQ‘IEﬁ CoaflieL 5L'_L_rru_|L'_|u®§gj§d)’ — @&

SaHmiLetr QFTL_TjenLwig) d

(A) weeviynd - B) seuyrd
. (C) ugeLwiITeT LT 8l ' D) wgpser Yyl A

(E) eofen Qafluefoana

69. Which are the articles that describe situations and confer power to
Union Government to claim control over states

(A) Art 368 and 313

(B) Art 356 and 363

(C)VArt 365, 256 and 257
() Art 349 and 350

(E) Answer not known

THSE S L igaT soflons s@H wrfe Srssoa LEHU Srs SLEOUESHID
P STIRISET G myfleiDen.

(A) srss 368 wHMID 313
(B)  srés 356 wigb 363
(C)  snig 365,256 wpmtd 257
(D) spag 349 wpmub 350
(E) eflen Qsfluelcvena
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70. Indian economy is marked by the existence of

(i)
(i)
(1i1)
(iv)
(&)
®
©

D)

- Low per capita income

High proportion of the working population is engaged in industri'es'
Improving rate of capital form'ation |

Problems in the employment |

(1) and (i1) are correct

(1) and (iii) are correct

(11) and (i11) are correct

(11) and (iv) are correct

(E) Answer not known

@pHw QummeTmgryd @gs&r epeotd GMds LB Eng

@
(i)
(111)
(iv)
(A)
®)
©
)
(E)

" CCS1P/22

GODHS SO EUHLOTEILD

2 DP&GLD EHET iFls a&]éﬂgé@éj QAgmfpsrerasefie FHULHereranio
CubL@SSULILL apeger 2 (Heurss ellEgD

Geuena eumilblehr HEE0GET

(D) whmb (11) sflwuremear

(1) wpmw (iii) sAurereas

(i) whmb (iif) shurenees

(11) wpmw (1v) sfluraea

efllenL Qgrﬂu_leﬁ}é)a)ai
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71.

72,

N

" The functions of Reserve Bank of India are:

() Issue of coins and Bank notes
(i) - Banker to the Govérnment
(i) Regulating credit in the country | |
(A) (@) and (i1) only | (B @ and (iii) only
. (C) (i) and (iii) only - (), (i) and (i)
(E) Answer not known | -
- @bHu Asies auisfuGen QrudunBaermeue
()  prewwhisedr wHob LMl Crr @ QaafiAI@se
() ersrkasdieE cmdureyrs ArdLGSD
(1) priged sLd pepsmeT RUEGLGSSISD
A @Qoppp @ w0 B) G) wpmb i) wiEn
€) (D) wpgod (i1i) wr@d D) @, (1) whgw i1
(E) e Qsflueiidama o .
~ How manyupairs are correctly matched? |
Vaccine Nature ,
1. - Phzer , , - — 'mRNA vaccine
2.  Covishield — . DNA based vaccine
3 Covaxin Ny — Inactive vaccine
4. Sputnik. V = Viral vector vaccine
(A) 1 pair . ~ (B) 2 pairs -
(CV”8 pairs (D) 4 pairs

 (E) Answer not known

ér:isgsmﬁf Gggmg.ser sfwns Qun@gglhui@a’rmm?

| g_s@ﬁg.ﬂ . o Qawed
1.  Pfizer | — mRNA sG0ys
Covishield - ~  DNA siguueLiGare sGUYS
3. Covaxin .~ Qewdlpss sEUYA |
4. Sputnik. V. = eayd Qa_:ésl_frg G W
(A) 1CGgmy : (B) 2ng|q.5sir |
(C) 3 Gegrig. s . (D) 4 Ggmq.&eir |

(E) oo Agflueiiioems
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